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7T R W AREASONINGRRIEE A (ZUPT FUNASEIN gy VIKRAMJEET SIR

Direction: Read the given statement and conclusions carefully. Assuming
that the information given in the statement is true, decide which of the

given conclusions logically follows from the statement.
frdor: fau v wgw 3R Freed &l aFUds U 9% WA U Tk %99 § 1 SEent
g, fvig & o fau q frrenet & € &M 91 difchas T ¥ G &1 3TE00T &Ll g
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Statement/F9:
The new government's policy aims to reduce carbon emissions by 50% within

the next decade.
A IVTH & WIaT T ST &l 50% T HH HT, T8 GGHIT ®it Aq & o6 g

Conclusion /T eh:
)o The government will imme-diately ban all vehicles running on fossil fuels.

TIHTT, SATYH 399 YT =e aret §Hl argel Ut qid wiaser s
The government will shut down all coal-fired power plants.
TWIHT, HIAA | FGe ot 9 faset 993 &t 59 &7 a7
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(a) Both conclusion I and II follow.

frerd 13X Fremd 11 THT 3TER0T A R
yf Neither conclusion I nor conclusion II follows.
T ar Fremd 1 3 71 €1 Fehd 11 31 98R0T &t )

(c) Only conclusion I follows/@%ad &RE I FTTEIUT HLAT g
(d) Only conclusion II follows/@&ac TTsRE IT FATEIUT HLaT g
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Situation/fafa:

Since the past 15 years, 75% of the products in the world’s pottery market comes
from Country K. However, the employment in the pottery industry of Country K
has been consistently declining by 5-9% every year since the past 3 years.

fuser 15 =9l |, IhET & fiedt & ol & W ¥ 75% I9E 297 K W 374 § gt 9 K

& et & o o o fuset 3 99l § 0 e ISR | 5-9% F e e o wi #

Conclusion /fehv:

J<~Even after declining employment, Country K has enough potters to
continue contributing equally to the international market.

AN G2 & o |, 397 K & U Jqeg o) § 969 ®9 | 9EE S
@ & fog v aer g
)Q The local demand of pottery in Country K has substantially decreased

leading to less interest among potters.

W K et & o o e W A o, R e e v s e
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(a) Neither I nor II can be concluded

T @ frewd 1 2w 7 € 11 e < wwar )
(b) Only II can be concluded.

wae Ty 11 e <1 9@t 2

(d) Both I and II can be concluded.
fremd 1 3T 11 1 freret <1 @&d )
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Statement/F9:

India’s largest lender bank has announced that it will be allowing customers
to exchange Rs. 2,000 notes without a requisition slip for amounts up to

Rs. 20,000. v

A & T8 ¥ MUETA A ¥ WO wi ¢ ok 9% WEE ®w 20,000 FIX qE HE AT
& fou fam felt Wi =it & 2,000 %92 & AT SEEA &l AT 3
Conclusion /fHv:

No one will be allowed to withdraw an amount of more than Rs. 20,000.

fedt &t &t 20,000 ¥9F | atfere wt iyt Frae &t srwfa =T <€ S
% No requisition slip is required for exchange of up to Rs. 20,000.

20,000 ¥9% 7% & fafwa & fau fedt o o=t #t swravawar =T &1
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COMPLETE [TYXJININ[E COURSE (For all govt. exams ) SR GL LSRG
(a) Only Conclusion I follows/%a'ﬁ e 1 STTEIOT H/IAT ‘Z‘I

(b) Neither Conclusion I nor Conclusion II follows.

T at frepd 1 it 71 &t frewd 11 ar@vor &aar 2
(c) Both Conclusion I and Conclusion II follow.

et 1 iR Frepd 11 91 37RO & B
(d) Only Conclusion II follows. \/

#ae FeRd 11 ST ER0T &Y B
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Statement/&9-:
I. Water has no shape, it has volume.

Tt &1 @IS SMHRIT @1 IaT, IHEHT T gram g

II. Knowledge is like water, it keeps flowing from one side to the other.
I U W W% €, Gﬁqmm‘&gﬁtmm'{m%l
Conclusion/fehv:

\)/Knowledge is intrinsic/ATH ST YT ﬂ‘l \./
Knowledge is limited to a specific scope><3

7 U fafyre qrat # dHifm g

> Knowledge directly affects the core of mental activity.
T TEE ® W WHTAEH Afafaiy ® g @ GWiiad & g

Download RG VIKRAMJEET application for complete course.
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%Both I and III follow/I 3T III S STTEOT W 2
(b) Both I and II follow/I 3fT II M1 TEIUT FHd |

(c) Only conclusion II follows/®aer f-ewd II 3TETUT HIAT §|
(d) Only conclusion I follows/a\n‘ilﬁ frerd 1 STTEIT H_TAT ‘a‘l
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Statement /& 9:

The interview panel may select a candidate who neither has the desired
qualifications nor the values ??and qualities.

AT U1 TH SHGE 6T 997 6T Ghdl ¢ T960H 919 T @ 9ifeq argar g 3T
T ¥ gew A T F
Conclusion/ﬁ'ﬂﬂf

/The inclusion of experts in the interview panel does not guarantee
that the selection will be fair.

ww%ﬁﬁﬁnﬁaﬁmﬁmmwmﬁﬂﬁ%mﬁawaﬁﬂml

The interview test has certain limitations in terms of selection of
candidates.

Wﬂrﬁ%w%mﬁmuﬂmﬁﬁvﬁmi@
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ﬁ Only conclusion I follows/®ae ferd I a0 Har ¢
(B) Only conclusion II follows/@ae femd II TTE0T &HTaT B
(C) Both I and II follow/I 3iT II Tl TTEIUT HIA |
(D) Neither I nor II follows/w @ISR T E I STEUT Rl 2
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Statement /9
I. Rabindranath Tagore wrote many poems/ &g 2T ¥ 3F® Hiaand ferai|
II. Ever; poet has aesthetic knowledgg/‘lﬁ Hia & U dA=GaidE AT gl g
III. Aesthetics is a part of value-based study/ﬁ?ﬁm Tﬂ'lfm TS T Teh 9T 11
Conclusion/ferd:
_/I// Rabindranath Tagore did various value-based studies.
g 2y 3 fafas gearfym seaw fea €
He followed the basis of logic and morality.
IFN aH A Aawmar & AR F Urer fwam
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(A) Neither I nor II follows /S @ I3 T Il SHATEIUT /T 2

(B) Both I and II follow/I 3T II SIFI 3TTEIUT Hd F

(C) Only conclusion II follows/®ae ferd 11 STEIOT Rl g
/(B)/On.ly conclusion I follows/®ae feRd I 3FEI0T &TaT £
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Statement/F9:

If all the players play to their full potential then we will win the match.
We have won the match.

gfg avft faerst st git aroar @ @SN a g9 A Sid gEA der wie ferar €

Conclusion /ey
I. All the players played to their full potential/

qut faenfeal 3 o=t gt &war | @em
II. Some players did not play to their full potential.

%9 faerdt ot git e o 7@ @el /&
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(;ﬁ Only conclusion I follows/#ae -ehd I STEIOT FHIaT ry
(b) Only conclusion II follows/@ae Ferd II STET /AT 1y
(c) Both I and II follow/I 3T II k| STHIOT H ‘3‘!

(d) Neither I nor II follows/¥ @ I 3T 7 ¥ II TTEIUT HIAT ¢
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Statement/F9-:

No country is completely self-sufficient these days.
#1g 3w 37 T gt aw ¥ avwfdT & &)

Conclusion /ey

c)/lt is impossible to grow and produce everything that a country needs.
IT QU =i il Tawiad S A IWES wE W ¢, Tt 39 @t amavaswan

gt g

The countrymen in general have become lazy.

3 | 9T YTETEr e ¥ T E
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COMPLETE WA P RSe S gy VIKRAMJEET SIR

ﬁnly conclusion I follows/%ae f-ehd I T ETOT HTaT Yy
(b) Only conclusion II follows/eaeT ferd 11 STEIT /Il 2
(c) Both I and II follow/I 3T 11 T STEUT H_dT g
(d) Neither I nor II follows /¥ a1 R T E I STEIOT /{Ar 2
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Statement /& 9-:

On the sea shore, milk will become poison, consume poison and is good
for health.
T P TaT H @ T T, iammmmﬁawaﬁrwa}ﬁmmtl

Conclusion /A wHv:

I. People should consume milk kept in a copper vesse\l./-
S @l TS T WaT H W@ T g9 H aT HET AE
One should avoid consuming poison.

WET & Wad | "e el
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(a) Conclusion II follows /ey II U&= ®tar 2
(b) Both conclusions I and II fouow/ﬁﬁ?ﬁf I 3T II i1 uTes & ?l
(c) Neither conclusion I nor II follows /¥ a foerd 1 9 € 11 e & 2

&?Conclusion I follows /et I urer &It 2
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Statement/9-:
In a T-20 cricket match, the total wickets taken by a team were 9. Out of

these, 6 wickets were taken by spinners.

& T-20 fire ¥ ¥, wa 4w gra forg e e faae 9 o 3 @ 6 Tarae Teoerdl grar g

T o
Conclusion /fwrv:
>0 A: 80% of the bowlers in the team were spinners/2iH ¥ 80% Taars faq=T &

)8- The opening bowlers of the team were spinners /27 & 39T e fa=w )
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(a) Only conclusion A follows.

Hae Ferd A STEIOT HIar B
(b) Only conclusion B follows.

#acl FeRd B TTER0T HiTar B

(c) Both conclusion A and conclusion B follow.

frerd A 3i fred B I avERor w3 B

) Neither conclusion A nor conclusion B follows.

T at frerd A 38T 7 € Fewd B e/ @Ror AT
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Statement /9
P advises  to go to Mumbai via Jaipur- the shortest route.
P S Q &l Wellg &1, “WaqY | ¥id TU Hu§ WIU-H&« BieT A 7|
Conclusion /T ehv:

P advises everyone/P T Wl &l Teg 3T 2

/H’./Q wants to go to Mumbai/Q H&3 WIFT =gl ¥
(a) Neither assumption I or II is implicit/= at &om I ar 11 fafga 2
(b) Only assumption I is implicit/®aer aom I fafga 7

i<y Only assumption II is implicit/®ae aron 11 FiEa 2
(d) Either assumption I or II is implicit/ar & &mom I =1 II fafga 7
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Statement/®9-:
I. Regularity is the reason for success in the examination.
witeT W WoeTaT @ HIuT Frafraar g

II. Some irregular students pass the examination.
®B At@iE BT wier I wE
Conclusion /A whv:
)b All irregular students pass the examination

it st o7 vder 30l a2
\ySOIne irregular students fail in the examination.

HB Eiha BT qieT ¥ arwrol g wa g
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COMPLETE LS AT PO TRSe AN gy VIKRAMJEET SIR

(a) Only conclusion I follows.
Faet Femd 1 ST Eur Y g
Only conclusion II follows.
Haer Frswd 11 3TET0T &I B

(c) Neither conclusion I nor conclusion II follows.

T at frerd 13t 7 & frend 11 e ERor &Ear 2

(d) Both conclusion I and conclusion II follow.

fremd 1 ofiT fred 11 S0 3T EROT ®EE B
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Statement/F9:
1. M. S. Dhoni is a popular cricketer/UH, UH, €<t U&h eniug fwaet €
2. All cricketers are fit and healthy/a%t Twset fre 3T =T T

3. M. S. Dhoni earns a good amount of money every year by advertising
\various products.)
UH, T, S 3T 9 faf= 3arEl & fagoel & SRu =8 @rd s9E w2
Conclusion /e

ﬁpopular cricketers earn a good amount of money through
advertising.

ot ewira fmeet fagas & wreaw ¥ o7=8t @rdt HA1E & 2
‘_/B./ M. S. Dhoni is fit and healthy /TR, TH, g+t fre i @
M. S. Dhoni, being famous, advertises onlyﬁ'amous products. >0

UH UH G AT I ® HIA0T hael WYY IATET T §1 TaqTaT wd g
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(a) Conclusions A and C follow/f e A 3T C ST 4

(b) Only conclusion B follows/®ae e B @I ®aT 2
% Only conclusion C follows/®ae e C 1E0T &HIAT g

(d) Conclusions A and B follow/fTed A 3T B 37 @0 &d £
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Statement /9
If you are a computer engineer, we would like to take you as our senior

consultant. An advertisement from Company XYZ.
Tfg T Uah HFeT AT &, T W ISR TR 9D GARHN & €9 § o JEd
£ ®Ot XYZ &1 us fagras

Conclusion /T eHu:;
I. Engineers are expected to perform well by Company XYZ.

FHUAT XYZ BT S0 | Sga? UGyl & Iuig &t wrdt g

II. Company XYZ needs a senior consultant. \/
FUA XYZ ®l Tk 9(0a ARSI i J&dd ¢
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(a) Both Concept I and Concept II are implicit.
JTFETOT 1 3T JTFeroT 11 qi g

(b) Only Concept II is implicit.%
Haer araeron 11 fafga 2
(c) Neither Concept I nor Concept II is implicit.
T @ U I 3T 7 ¥ avagmon 11 fafga 2
(d) Only Concept I is implicit.

waer araymo 1 fafge 2
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Statement /& 9:
Road accidents are increasing day by day/¥g® g¥eamu faa-ufa-fa=7 =gt s =t 21
Conclusion /- ehv:

% The government should start awareness programmes to strictly follow traffic rules.

T Tl ATarard Faml & Tl | U it & (60 9HTeehal ik JE & STy

The government should put a limit on the registration of new vehicles.
THT Hl T g1 @ USRI U7 Ueh HIAT ST Aigal
(a) Neither I nor I follows/w T IART T E ] SATHEIUT Rl 2
%Only I follows/&Hae I SFEIOT /Il 2
(c) Either I or II follows/dT @ I 9T II T EIUT &Hal g
(d) (D) Only II follows/®ae II TTATUT &HIAT ¢l
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Statement/F9:
Invigilators should not use mobile phones in thelexamination hall during the examination.
QST & T TdAWET w TAET g W W T ITAN TEI HET AMET
Conclusion /v

Mobiles disturb students during exams.

qiET & T BT I AEEA YT HIAT 2
II. Switching off the mobiles helps in improving their aleggss.

AETgE WY T § ITHR! Wadwdl W QA HIA A waq Terdt g
ﬁNeither I nor I follows /¥ a1t T 1 II STHIOT H/dr ‘3‘!
(b) Only I follows/#Hae I ATEIUT H_{AT 2
(c) Either I or II follows /&ae II STHIUT /Tl 2
(d) Only II follows/I 3T II T T HId B
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Statement /& 9:
Exercising in the morning is good for health /T =AM T TEd & 10 3711 FaT 21
Conclusion /A ery 1:

/He/alth can be maintained by exercising /=™ T @ & T @& ST Hehdal ry
Conclusion/fsrd 2:

>@thout exercising, people will become ill/fa=T =mmamm faww i =i g1 ST

(}ﬁ? Conclusion I follows the statement/fshd I &g &1 STEIOT /AT g

(b) Conclusion II follows the statement/shd II HLT &1 HATEIOT HLAl g
(c) Both the conclusions follow the statement /T TRy waT &1 HTEOT F 2
(d) None of the conclusions follows the statement/®E W Fert wem @1 TR TR HET
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Statement/ 9
I. Quality of education in India will improve.

wra ¥ fyrem ®t urawr # gerw gem
II. Only money can improve education content.
o ¥t forem wrwit § guw w5 wwar g
Conclusion /f=rd: @)Q

ﬁ Indian education lacks quality due to less funds. India is allocating extra
money to the education sector.

HH G & 0 WiEr e ® urar #it wE §) wrw e & @ el o swefea
wT W@ T
(ﬁ Only conclusion I follows/#®ae fewd I &0 Har

(b) Neither I nor II follows/¥ & I 31T 7 ¥ II 3T AT &HIaT 2
(c) Either I or II follows /a7 @ 13T 11 HATEIUT /Il ‘a‘l

(d) Only conclusion II follows/@ae femd II AT HTaT B
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Statement/f9:

The postal system in India was started by the British in 1764.
WA &l ST TGl @i J[HATH WS 7 1764 H @i &

Conclusion /fFehH:

I. Postal mails are often delayed or go missing

& WS 37FET 30 | oTd & °T WMEw ¥ AT B
II. Postmen are underpaid, so they make mistakes. w
gIfRal &t ®A WA fear srar ¢, gafen 3 Tefaar s
(a) Only conclusion II follows/®ae fewd II TEIT HIar 7

(b) Only conclusion I follows /&haeT f-eht I STEIUT /T 2 /
(c) Neither conclusion I nor II follows/7 @ fewd I 3iT 7 ¥t II 3T ERoT ‘é&l

(d) Both the conclusions follow /S e STEIT i 2
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Statement/F9:
The patient brought to the emergency last night could have been saved if
surgery was done earlier.
st U9 FETS ¥ T T WS W W O A 3PN HP 9T UgS Tl @ &1 et
Conclusion /v
ﬁurgery was the only option for survival/Sifad = & THAT fawmea T=dt @m
/ The patient was brought to the hospitﬂ'ﬂ'a il 97 § TS AT 4T
(a) Only conclusion I follows /®aeT Terd I SATEIUT /AT g
(b) Neither conclusion I nor conclusion II follows/= A I 3% T ¥l II Frent 3wERor & &
(c) Only conclusion II follows/®ae Ferd II 1FET0T &IaT B
oth conclusions I and II follow/I 3T II =i e FTETOT HId g
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T Ry VAREASONINGRXUIES A (ZTR [ FUUASEY gy VIKRAMJEET SIR

In the question, a statement is given followed by two conclusions I and II. You
have to take the statement to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, If
any, follows the given statement.

mimma&rmﬁma’tﬁmﬁl 3T 11 fau o & suuwt 39 YT W W WA Ehm,
W&t ¥ GE W AT UT FATE e | T WAld giaT # 3uH g 79 & ¢ o fHw o frema
¥ we wr fred, afy w8 €, o @ was @ s wEr

Statement /9

No country is completely self-reliant these days.

w3 39 39 A gt T | sty w
Conclusions /f&FY:
I. It is impossible to grow and produce all the things a country needs.

37 |t =i W fawfaa wow it SarEs & swv €, et 391 & smavamar gt B
II. In general, the countrymen have become lazy.
3y 'ah 7T FrvraT amw& & T #
(a) Only conclusion I follows./&ae FeRd 1 E0T &I ¥
(b) Only conclusion II follows./&ae ferd II 1 Eor HTa g
(c) Both I and II follow./I 3T II TAT EIOT HIAT &
(d) Neither I nor II follows. /S G | ﬁ IT ATEIOT FH/Tdr tl
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In the question a statement is given followed by two arguments, I and II. You
have to consider this statement to be true, even if it seems to be at odds with

commonly known facts. You have to decide which of the given arguments, if any,
follows the given statement.

YT ¥ Us w9 3T W Wi A aek, 1 38T 11 AU T ) enueRt 39 s i 6 WA g,
We ¥ 9% W AT 9T JT9 qeAl | 3T WAl giar g1 USRI 99 wew ¢ faw o awnl
¥ wA-r @k, afg w8 €, fau U waw wr e wEar g

Statement /9

Should new big industries be started in Delhi?

= faeet o w0 u% U yrw fwn s =fea?
Conclusions /ey
1. No, this will increase pollution in the city.

T, T59 BT & WWUT H FATHT AN
2. Yes, it will provide employment opportunities.
¥, 9% USMT & TGET YEH HOm|

(a) Only conclusion I follows./%aer FeRd I @I FTaT B
(b) Only conclusion II follows./%ae feRd II TFET0T W
(c) Both I and II follow./I 3T II T+ 3TETUT &I £

(d) Neither I nor II follows./ & I 3fIT 7 &1 II 3 E0T &A@ )
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Q\ A In the question, two statements are given followed by three conclusions I, II and

II1. You have to take the statement to be true even if it seems to be at odds with
commonly known facts. You have to decide which of the given conclusions, if
S any, follow from the given statements.

M{g;ﬁﬁmaﬁrm%mzﬂﬂﬁm&l I1 3f7 111 fau 7o & ost 39 H99 & §F AT
W& ¥ I% W AT 9T F7TA qeAl | e WAld g1 §1| IS T8 79 &0 ¢ T A w
Frerut ® & wiw Frewd, afs & &, fag @ wo= & R & €

S

v Statement /&% 9-:
g 1. Many business offices are located in buildings having 2 to 8 floors.
2

wmmzasmmmamm
2. If a building has 3 floors, it has lifts.

/ afy faedt waw & 3 wias &, @ 3o fooe gt &)
Conclusions/ferd:

j )o , )CAllnoors are accessible by lifts./qvft wfwen uv foaei gro wgenm o1 w@&ar 7
Only the floors above the 3rd floor have lifts.
#rlm Arad wisen & S9T arelt Arae o oo )

)H/There are lift on 7" floor./7 & wWhaer Ut forge &)
(a) Only conclusion I follows. JFaer Frend 1 ST /AT 2
(b) Only conclusion II follows./&aer frerd 11 swETor wyar 71
nly conclusion III follows./&ae ferd III 30T &Tar &)
(d) All three follow. J A=t FET W B
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In the question, a statement is given followed by two conclu-sions I and II. You
have to accept this statement as true, even if it seems to be at odds with commonly
known facts. You have to decide which of the given conclusions, if any, follow(s)
from the given statements.

W9 ¥ Ush ®9T 3T 36+ =g at Frewd 1 387 11 fau T ) eTowRl 39 9 w9 WA g,
Wt g1 9% 3 AT 9T F7TE T4 | 6T WAl grar g1 SAH 9% 99 wew ¢ o fHw o et
# &7 wmia/A Fred, afa w3, fag g wa & swgeRor w280

Statement/F9:
Quality has value. India is allocating a lot of funds for education.

TUTEET HT HET BT B mw%mu@wmmmmtu
Conclusions /frerv:
The quality of education in India will improve soon.

wrta o fyren &t Turawr wew ¥ |guT S
)()Fundm g alone can enhance the quality of Shikha.

fﬁmmmu&mﬁqﬁmmtu

a) Only conclusion I follows./&ae ferd I amEor &Tar 2
(b) Only conclusion II follows./%ae ferd II 1ETT HTAT 71
(c) Both I and II follow./I 3fT II Tl TFETOT THIT B
(d) Neither I nor II follows./¥ @t I 3T 7 ¥t II 1 ET0T ®Tar B
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In the question two statements are given followed by three conclusions I, II and III. You
have to consider the statements to be true even if they seem to be at odds with commonly

known facts. You have to decide which of the given conclusions, if any, follow(s) from
the glven statements.

T HIT ;T ITF wE 77 Frewd 1, 11 37 111 faw o §) snueRr 39Sl & wR WEAT g,
w&ﬁwm?htwmm&mmmmm“mmtf&m“tm?t%
wra/A frend, ofz w8 €, fau Tw st =1 s a3
Statement /&9:

1. All books written by X are textbooks./X gRT foraht 7§ uvft gmar wrgages €
> . Some of his books are published by ABC Publishing Company.
X _Te)“tbvb MWWABCWMWmmh

Conclusions/ s
ABC Publishing Company publishes only textbooks.
C VHWH ®UAT e UIGAE®! ®i mmﬂna wt
7 Some textbooks written by X have been published by publishers other than ABC

Publishing Company.
o’n\‘r/\ xmmwgswwﬂﬁmcmm%mmmmmﬁmwh

III. ABC Publishing Company publishes some important principles written by X.
mcmﬂwxmﬂ!ﬁw@wmﬁtﬁmﬁmmh

(a) Only conclusion I follows./&a® frerd 1 rgawer wwar §
Only conclusion II follows. /&as frerd 11 argETwT &yaT £

(c) Only conclusion III follows. /&Fas frerd 111 rETwT FwaT §)

(d) None of the three follows./dFf ¥ ¥ ®§ it argaver ¢ &wr T

Download RG VIKRAMJEET application for complete course.




T Ry VAREASONINGRXUIES A (ZTR [ FUUASEY gy VIKRAMJEET SIR

In the question a statement is given followed by two conclusions, I and II. You have to
consider this statement to be true, even if it seems to be at odds with commonly known

facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

IR W Us w9 3T 39 w91 Frewd, 1 iR 11 faw o }) et 39 #9s w W& WA g, 9o
¥ 9% 3TW 9T 9T AT q€A | e Wdd giar 811 ouH 9% 79 wew ¢ fauf o frewdl o @ s
frerd, afs w18 ¥, fau U waw & ST wEar

Statement/%9-:

Domestic demand for wheat is increasing faster than its production.

g & IAEA H GO A IH@T WIE WA A0 H =g W E

Conclusions/ferd:

I. Domestic demand should be reduced. /93 HWI T &H & A =ATET >O

II. We should export wheat. /%" g &1 faia & =fgy) o

(a) Only conclusion I follows. JFaer Fend 1 STEIOT /AT 2

(b) Only conclusion II follows./%ae fewd II T ET0T &HTaw g

(c) Both conclusion I and II follow./I 3fT 11 = STTEIOT H/IAT 1

Weither I nor II follows. /T @t I 3T 7 gt II 3TEIOT HTaT B
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In the question two statements are given followed by three conclusions I, II
and III. You have to consider the statements to be true even if they seem to

be at odds with commonly known facts. You have to decide which of the given
conclusions, if any, follow from the given statements.

mt‘nﬁmaﬁ-rm%m = fored 1, 11 aﬂnnﬂrquu MU TH HIA Tl TF AT
EIT, Wet 1 9% 37W |7 9T {19 qel | 3760 Wdld giaT 811 39ah! 98 o9 & ¢ T 40 10
frerml & & ww-wr Freed, afs & €, fau g wa @ svEvor wEar §
Statement /9
1. All the students in the class are intelligent./®&m & Wwt w7 Wta gqfig & £
2. X is not intelligent./X Ww gfig &1 & 21
Conclusions/fery:
/OI Some students are not intelligent./%® BT e Aqfig & & 4
X should work hard./X & ®3l Wgd HA ATETI
Jf X is not a student of that class./X 39 ®&@T &l BT &1 t
)(]a) Only conclusion I follows/%ae ferd I > E0T HIar 7
)y Only conclusion II follows./&ae fewd II 30T HTaT 7
_4cT Only conclusion III follows./&ae ferd III 17ET0T &IaT ¢
)«d) None of the three follows. /™Ml ¥ ¥ @®I§ Wl 0T Tl HIAT ¢
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Given below is a statement followed by two conclusions I and II. You have to
consider this statement to be true, even if it seems to be at odds with commonly
known facts. You have to decide which of the given conclusions, if any, follow

from the given statements.

e Uw w9 o 3Ee wrg 91 sl 1 e 11 faw o #) evuent 3 wew @ | WIAeT g,
v ¥ € MW AT UT JIA A4 | S WArd giaT ¥ 3qwi 9% 79 wew ¢ o e v Fremed
% | wm w Frend, afy w1 ¢, Qg T we @ arERor e €
Statement /9
Company ABC has marketed its product with the following slogan. "Go ahead; If
price and quality are your priority then buy this”.
FO4t ABC 7 Frefeifaa i & 619 3799 I@rd & fagur fmar 41 “omt =7 afy &iwe ok
UTEAT AT WL THEwar & @ 39 @] )
Conclusions /ey
)01. Price of production should be higher. /30T &l ®HiAa 3iftrs gt Uiy

/K./ The quality of production should be good. /3™ &l AR aT=B wI= Uiy
(a) Only conclusion I follows. JFae Frend 1 HTEWT FH/IAT £

//ﬁ){nly conclusion II follows. /%ae Terd II 37 ET0T ®HTaT B
(c) Both I and II follow./I 3T II I TEWT /AT 14
(d) Neither I nor II follows./ & I 3i¥ 7 ¥ II >7ET0T HIAT B
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In the question a statement is given followed by three conclusions, I, II and IIl. You have
to consider this statement to be true, even if it seems to be at odds with commonly

known facts. You have to decide which of the given conclusions, if any, follows. Follows
the given statements.

WY § Ueh YA 3 Ik =1 i 1end, 1, 11 3fIT 111 f2u 7w €1 ueh! 3@ %9+ &l §c8 WA B,
TS §1 9% MW I UL AT q24] A 0T Udld giaT §11 HTUeh! 9% a9 & ¢ foh fau v frewef § @
wraT Frend, afs &8 {1 fau 0 wg=i &1 arEr & §)

Statement/hY-:

1. Every person should have his own identity card.

yAE fed & U (0T YT U BT AU

2. His/her blood group, complete address and telephone number for contact in case of
emergency should be mentioned in that card.

ATITAERTA o WA § W T U SUET {@d GYE, YUch oh [0 YT UaT 3 SE®IA Fat &l SeoTd
Terar s =nfew
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